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Problem I: (40 points)
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Figure [

For the beam shown in Figure I, the own weight is neglected.
Your diagrams/sketches should include any feature/value you think is relevant or important.

1. Let w=10 kN/m, P;=50 kN, and P,=10 kN
Draw the shear and bending moment diagrams and sketch the deflected shape.
(30 points)

SHEAR:

MOMENT:

DEFLECTION:

Calculations:
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Calculations and/or Diagrams (cont’d):
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2. In this question, no calculations are required; use your intuition and best judgement.
Sketch the deflected shape when P; only is applied (w=0 and P,=0).
Sketch the deflected shape when P, only is applied (w=0 and P;=0).
Deduce the influence line of the deflection at B (Assume upward deflection is positive).
(10 points)

Deflection due to P;:

Deflection due to P,:

INF. DEF. at B:

i & biale

computer
aided
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Problem 11: (60 points)
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Figure II

1. Referring to Figure II, draw the influence lines for R¢, Rp, Rg, V¢, Vp, Mp, M, and Mp.
(40 points)

Calculations and Diagrams:
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Calculations and Diagrams (cont’d):
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Calculations and Diagrams (cont’d):
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2. Let wp=10 kKN/m (dead load); wy=10 kKN/m and P=10 kN (live loads)
Compute the maximum values (positive and negative or minimum) for R¢ and Mp.
(20 points)

Calculations and Diagrams:
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Calculations and Diagrams (cont’d):




CVEV 051 — Spring 2001-2002 Quiz 1 Mounir Mabsout

EXTRA SHEET: Continued from page
Name: ID#:

Calculations and/or Diagrams:

10



